IIJEL{E

2 f&W C IR =

e D L1 L L2 d ERE 1B RE
ZD02-37.0-XP32-WC06-02 37 74 165
— ZD02-37.5-XP32-WC06-02 37.5 75 166
N _ ZD02-38.0-XP32-WC06-02 38 76 167
f 3 ; " 4 ZD02-38.5-XP32-WC06-02 38.5 77 168
. o 3 .ﬁi . ~vwm-—;) = - ZD02-39.0-XP32-WC06-02 39 78 169 60 32 WCMTO06T308 | M3.5*8
e - | o> ZD02-39.5-XP32-WC06-02 39.5 79 170
_t/ 1l ZD02-40.0-XP32-WC06-02 40 80 171
L2 ZD02-41.0-XP32-WC06-02 41 82 173
ZD02-42.0-XP32-WC06-02 42 84 175
L ZD02-43.0-XP40-WC08-02 43 86 186
ZD02-44.0-XP40-WC08-02 44 38 188
ZD02-45.0-XP40-WC08-02 45 90 190
ZD02-46.0-XP40-WC08-02 46 92 192
2D-WCHR=ES ZD02-47.0-XP40-WC08-02 a7 o4 194 T15
RS D L1 L L2 d ERTIE g R F ZD02-48.0-XP40-WC08-02 48 96 196
ZD02-14.0-XP25-WC03-02 14 28 106 ZD02-49.0-XP40-WC08-02 49 98 198
ZD02-14.5-XP25-WC03-02 14.5 29 107 ZD02-50.0-XP40-WC08-02 50 100 200 WCMT080412 | M4*10
ZD02-15.0-XP25-WC03-02 15 30 108 ZD02-51.0-XP40-WC08-02 51 102 202 o5 40
ZD02-15.5-XP25-WC03-02 15.5 31 109 ZD02-52.0-XP40-WC08-02 52 104 204
ZD02-16.0-XP25-WC03-02 16 32 110 ZD02-53.0-XP40-WC08-02 53 106 206
ZD02-16.5-XP25-WC03-02 16.5 33 111 ZD02-54.0-XP40-WC08-02 54 108 208
ZD02-17.0-XP25-WC03-02 17 34 112 ZD02-55.0-XP40-WC08-02 55 110 210
ZD02-17.5-XP25-WC03-02 175 35 113 WCMT030208 ZD02-56.0-XP40-WC08-02 56 112 212
ZD02-18.0-XP25-WC03-02 18 36 114 ZD02-57.0-XP40-WC08-02 57 114 214
ZD02-18.5-XP25-WC03-02 18.5 37 115 ZD02-58.0-XP40-WC06-04 58 116 216
ZD02-19.0-XP25-WC03-02 19 38 116 56 o5 M2 5°6.5 ZD02-59.0-XP40-WC06-04 59 118 218 WCMT06T308 | M3.5*8
ZD02-19.5-XP25-WC03-02 19.5 39 117 ZD02-60.0-XP40-WC06-04 60 120 220
ZD02-20.0-XP25-WC03-02 20 40 119
ZD02-20.5-XP25-WC03-02 20.5 41 120 ) s POhis T B % AL 8
ZD02-21.0-XP25-WC04-02 21 42 121 E}LEEE?I‘EHE
ZD02-21.5-XP25-WC04-02 21.5 43 122 .
ZD02-22.0-XP25-WC04-02 22 44 123 m SPTIRTZAR T E EEBEa
ZD02-22.5-XP25-WC04-02 22.5 45 124 T8 SPMG050204 0.30mm
ZD02-23.0-XP25-WC04-02 23 46 125 WCMT04028 SPMGO60304 0.40mm
ZD02-23.5-XP25-WC04-02 23.5 47 126 SPMGO7T308 0.50mm
ZD02-24.0-XP25-WC04-02 24 48 127 SPMG090408 0.70mm
ZD02-24.5-XP25-WC04-02 24.5 49 128 SPMGO110408] 0.80mm
ZD02-25.0-XP32-WC05-02 25 50 141 SPMG140512 0.90mm
ZD02-25.5-XP32-WC05-02 25.5 51 142
ZD02-26.0-XP32-WC05-02 26 52 143
ZD02-26.5-XP32-WC05-02 26.5 53 144 WcTl R R
ZD02-27.0-XP32-WC05-02 27 54 145 _ _
ZD02-27.5-XP32-WC05-02 275 55 146 © wcﬁfgg?zos ”%ﬁi’fa
ZD02-28.0-XP32-WC05-02 28 56 147 . :
ZD02-28.5-XP32-WC05-02 28.5 57 148 WCMT050308 M3™7 —— WCMT040208 0.6mm
ZD02-29.0-XP32-WC05-02 29 58 149 WCMT050308 0.8mm
ZD02-29.5-XP32-WC05-02 29.5 59 150 WCMT050308 0.95mm
ZD02-30.0-XP32-WC05-02 30 60 151 WCMT080412 1.25mm
ZD02-30.5-XP32-WC05-02 30.5 61 152 50 37
ZD02-31.0-XP32-WC05-02 31 62 153 T R RS Ea
ZD02-31.5-XP32-WC05-02 31.5 63 154 WCMT030208 o a0mm
ZD02-32.0-XP32-WC06-02 32 64 155 ivPCMMGTOOZOOZZOO“S
ZD02-32.5-XP32-WC06-02 32.5 65 156 SPMGOE60204 0.40mm
ZD02-33.0-XP32-WC06-02 33 66 157 N N WCMT040308 0.50mm
ZD02-33.5-XP32-WC06-02 33.5 67 158 © SPMG060204 :
£D02-34.0-XP32-WC06-02 34 68 159 WCMTO6T308 | M3.5"8 T15 \éVPCMMGTOO7500330088 0.70mm
ZD02-34.5-XP32-WC06-02 34.5 69 160 CMTO50308
ZD02-35.0-XP32-WC06-02 35 70 161 SPMG090408 0.70mm
ZD02-35.5-XP32-WC06-02 35.5 71 162 WCMT060308 0.90mm
ZD02-36.0-XP32-WC06-02 36 72 163 SPMG110408
WCMT080412
ZD02-36.5-XP32-WC06-02 36.5 73 164 SPMIGT 40512 1.20mm



Administrator
打字机
1

Administrator
打字机

Administrator
打字机

Administrator
打字机
2

Administrator
打字机

Administrator
打字机

Administrator
打字机

Administrator
打字机


"'"'—-._\_‘ °
i L1 1
L
3D-WCHREE

e D L1 L L2 d ERTIE B RF
ZD03-14.0-XP25-WC03-02 14 42 120
ZD03-14.5-XP25-WC03-02 14.5 43.5 122
ZD03-15.0-XP25-WC03-02 15 45 123
ZD03-15.5-XP25-WC03-02 15.5 46.5 124
ZD03-16.0-XP25-WC03-02 16 48 126
ZD03-16.5-XP25-WC03-02 16.5 495 127
ZD03-17.0-XP25-WC03-02 17 51 129
ZD03-17.5-XP25-WC03-02 17.5 52.5 130 WCMT030208
ZD03-18.0-XP25-WC03-02 18 54 132
ZD03-18.5-XP25-WC03-02 18.5 55.5 133
ZD03-19.0-XP25-WC03-02 19 57 135 i
ZD03-19.5-XP25-WC03-02 19.5 58.5 135 56 25 M2.576.5
ZD03-20.0-XP25-WC03-02 20 60 139
ZD03-20.5-XP25-WC03-02 20.5 61.5 140
ZD03-21.0-XP25-WC04-02 21 63 142
ZD03-21.5-XP25-WC04-02 21.5 64.5 143
ZD03-22.0-XP25-WC04-02 22 66 145
ZD03-22.5-XP25-WC04-02 225 67.5 148 8
ZD03-23.0-XP25-WC04-02 23 69 148 WCMT04028
ZD03-23.5-XP25-WC04-02 235 70.5 149
ZD03-24.0-XP25-WC04-02 24 72 151
ZD03-24.5-XP25-WC04-02 24.5 735 152
ZD03-25.0-XP32-WC05-02 25 75 166
ZD03-25.5-XP32-WC05-02 25.5 76.5 167
ZD03-26.0-XP32-WC05-02 26 78 169
ZD03-26.5-XP32-WC05-02 26.5 79.5 170
ZD03-27.0-XP32-WC05-02 27 81 172
ZD03-27.5-XP32-WC05-02 27.5 82.5 173
ZD03-28.0-XP32-WC05-02 28 34 175 .
ZD03-28.5-XP32-WC05-02 28.5 85.5 176 WCEMTO050308 M3
ZD03-29.0-XP32-WC05-02 29 87 178
ZD03-29.5-XP32-WC05-02 29.5 88.5 179
ZD03-30.0-XP32-WC05-02 30 90 181
ZD03-30.5-XP32-WC05-02 30.5 91.5 182 50 .
ZD03-31.0-XP32-WC05-02 31 93 184
ZD03-31.5-XP32-WC05-02 31.5 94.5 185
ZD03-32.0-XP32-WC06-02 32 96 187
ZD03-32.5-XP32-WC06-02 325 97.5 188
ZD03-33.0-XP32-WC06-02 33 99 190
ZD03-33.5-XP32-WC06-02 33.5 100.5 191
ZD03-34.0-XP32-WC06-02 34 102 193 .
ZD03-34.5-XP32-WC06-02 34.5 103.5 194 WCMTO6T308 | M358 s
ZD03-35.0-XP32-WC06-02 35 105 196
ZD03-35.5-XP32-WC06-02 35.5 106.5 197
ZD03-36.0-XP32-WC06-02 36 108 199
ZD03-36.5-XP32-WC06-02 36.5 109.5 200

nes D L1 L L2 d petz=paly 297 RF

ZD03-37.0-XP32-WC06-02 37 111 202
ZD03-37.5-XP32-WC06-02 37.5 1125 203
ZD03-38.0-XP32-WC06-02 38 114 205
ZD03-38.5-XP32-WC06-02 38.5 115.5 206
ZD03-39.0-XP32-WC06-02 39 117 206 60 32 WCMTO6T308 M3.5*8
ZD03-39.5-XP32-WC06-02 395 118.5 209
ZD03-40.0-XP32-WC06-02 40 120 211
ZD03-41.0-XP32-WC06-02 41 123 214
ZD03-42.0-XP32-WC06-02 42 126 217
ZD03-43.0-XP40-WC08-02 43 129 229
ZD03-44.0-XP40-WC08-02 44 132 232
ZD03-45.0-XP40-WC08-02 45 135 235
ZD03-46.0-XP40-WC08-02 46 138 238
ZD03-47.0-XP40-WC08-02 47 141 241 T15
ZD03-48.0-XP40-WC08-02 48 144 244
ZD03-49.0-XP40-WC08-02 49 147 247
ZD03-50.0-XP40-WC08-02 50 150 250 WCMT080412 M4*10
ZD03-51.0-XP40-WC08-02 51 153 253 65 40
ZD03-52.0-XP40-WC08-02 52 156 256
ZD03-53.0-XP40-WC08-02 53 159 259
ZD03-54.0-XP40-WC08-02 54 162 262
ZD03-55.0-XP40-WC08-02 55 165 265
ZD03-56.0-XP40-WC08-02 56 168 268
ZD03-57.0-XP40-WC08-02 57 171 271
ZD03-58.0-XP40-WC06-04 58 174 274
ZD03-59.0-XP40-WC06-04 59 177 277 WCMTO06T308 M3.5*8
ZD03-60.0-XP40-WC06-04 60 180 280

Al + N

RESHBXSHITERE
ShLEhiE
g= Ycx1000 Ve(m/min) & E
~  mxDc Dc(mm): 5%
S(rev/min) &
SCA5):
120x 1000

TIH IR ET20m/min | $SLEEHO20mm | ek : S= 1500280

1900rev/min

HEEE

Vi(mm/min):# A& EE

Vf=Frx§ Frimm/rev) SE#HBE
S(rev/min):E &

LA

THEZERET900rev/min , BEHBLEENO. Tmm/revEMEHEBIERE

:Vf=FrxS8=1900%x0.1=190mm/min

7,00 TR 1
_H Tc(s) N IAtAE
Te=yf x60 H(mm): $57.3%
]

B— N EEH20mm , EF40mmET, , HAEEEH190mm/min:To= 1 x 60=

40
190

x60=13s



Administrator
打字机
3

Administrator
打字机

Administrator
打字机
4

Administrator
打字机


IIJELEE

4ZW CHR 2

RS D L1 L L2 d BRI By RE
ZD04-37.0-XP32-WC06-02 37 148 239
ZD04-37.5-XP32-WC06-02 37.5 150 241
xk _ ZD04-38.0-XP32-WC06-02 38 152 243
S—— T “3 7ZD04-38.5-XP32-WC06-02 38.5 154 245
T eee— o i) ZD04-39.0-XP32-WC06-02 39 156 247 60 32 WCMTO06T308 | M3.5*8
{ P— " o) ZD04-39.5-XP32-WC06-02 39.5 158 249
\ L1 0 ZD04-40.0-XP32-WC06-02 40 160 251
ZD04-41.0-XP32-WC06-02 41 164 255
L ZD04-42.0-XP32-WC06-02 42 168 259
ZD04-43.0-XP40-WC08-02 43 172 272
ZD04-44.0-XP40-WC08-02 44 176 276
ZD04-45.0-XP40-WC08-02 45 180 280
ZD04-46.0-XP40-WC08-02 46 184 284
4D-WCIRZEH, ZD04-47.0-XP40-WC08-02 47 188 288 T15
s D L1 L L2 d BRI 1Ry RF ZD04-48.0-XP40-WC08-02 48 192 292
ZD04-14.0-XP25-WC03-02 14 56 134 ZD04-49.0-XP40-WC08-02 49 196 296
ZD04-14.5-XP25-WC03-02 14.5 58 136 ZD04-50.0-XP40-WC08-02 50 200 300 WCMT080412 M4*10
ZD04-15.0-XP25-WC03-02 15 60 138 ZD04-51.0-XP40-WC08-02 51 204 304
ZD04-15.5-XP25-WC03-02 15.5 62 140 ZD04-52.0-XP40-WC08-02 52 208 38 65 40
ZD04-16.0-XP25-WC03-02 16 64 142 ZD04-53.0-XP40-WC08-02 53 212 312
ZD04-16.5-XP25-WC03-02 16.5 66 144 7ZD04-54.0-XP40-WC08-02 54 216 316
ZD04-17.0-XP25-WC03-02 17 68 146 ZD04-55.0-XP40-WC08-02 55 220 320
ZD04-17.5-XP25-WC03-02 17.5 70 148 WCMT030208 ZD04-56.0-XP40-WC08-02 56 224 324
ZD04-18.0-XP25-WC03-02 18 72 150 ZD04-57.0-XP40-WC08-02 57 228 328
ZD04-18.5-XP25-WC03-02 18.5 74 152 ZD04-58.0-XP40-WC06-04 58 232 332
ZD04-19.0-XP25-WC03-02 19 76 154 56 o5 M2 5%6.5 ZD04-59.0-XP40-WC06-04 59 236 336 WCMT06T308 | M3.5*8
ZD04-19.5-XP25-WC03-02 19.5 78 155 - 7ZD04-60.0-XP40-WC06-04 60 240 340
ZD04-20.0-XP25-WC03-02 20 80 159
7ZD04-20.5-XP25-WC03-02 20.5 82 161
ZD04-21.0-XP25-WC04-02 21 84 163
ZD04-21.5-XP25-WC04-02 21.5 86 165 1]|]II}J$§2¢
7ZD04-22.0-XP25-WC04-02 22 88 167
ZD04-22.5-XP25-WC04-02 225 90 169 T8
ZD04-23.0-XP25-WC04-02 23 92 171 WCMT04028 o L TEIERNEEHI INTARAEZELIH
7ZD04-23.5-XP25-WC04-02 235 94 173
ZD04-24.0-XP25-WC04-02 24 96 175 o U-DrillfL EHTFSRIMSIHRNE
ZD04-24.5-XP25-WC04-02 24.5 98 177
ZD04-25.0-XP32-WC05-02 25 100 191
ZD04-25.5-XP32-WC05-02 255 102 193
ZD04-26.0-XP32-WC05-02 26 104 195
ZD04-26.5-XP32-WC05-02 26.5 106 197
ZD04-27.0-XP32-WC05-02 27 108 199
ZD04-27.5-XP32-WC05-02 27.5 110 201 R
ZD04-28.0-XP32-WC05-02 28 112 203 . 6 fn (mm/rev) =0.13 t6 fn (mm/rev) =0.13
ZD04-28.5-XP32-WC05-02_| 285 114 205 WEMTO50308 | M3™7 S 2 /z i Gyrew) 010
ZD04-29.0-XP32-WC05-02 29 116 207 ., M mmre) =010 &5 ?
ZD04-29.5-XP32-WC05-02 29.5 118 209 o j/o fn (mm/rev) =0.07 " o fn (mm/rev) =0.07
ZD04-30.0-XP32-WC05-02 30 120 211 . /;// . /
oAt oxposvicios | T e ]| ® | e 7
= - . o//( 2 5
ZD04-31.5-XP32-WC05-02 31.5 126 217 4 g// /V
ZD04-32.0-XP32-WC06-02 32 128 219 2 1 —
ZD04-32.5-XP32-WC06-02 32.5 130 221 %75 20 30 40 50 60 o
ZD04-33.0-XP32-WC06-02 33 132 223 B (mm) ° 20 % 0 NS ()
7ZD04-33.5-XP32-WC06-02 33.5 134 225
ZD04-34.0-XP32-WC06-02 34 136 227 .
ZD04-34.5-XP32-WC06-02 34.5 138 229 WCMTO6T308 | M358 s
ZD04-35.0-XP32-WC06-02 35 140 231
ZD04-35.5-XP32-WC06-02 35.5 142 233
7ZD04-36.0-XP32-WC06-02 36 144 235
ZD04-36.5-XP32-WC06-02 36.5 146 237



Administrator
打字机
5

Administrator
打字机
6

Administrator
打字机


IIJELEE

5f&5WCHRE

"\_______ B B
,’“,.' Q He D L1 L L2 d ERTIA T RE
\ ,l S .\s = = ZD05-46.0-XP40-WC08-02 46 230 330
' : . : u P ZD05-47.0-XP40-WC08-02 47 235 335
e P I T ZD05-48.0-XP40-WC08-02 48 240 340
ZD05-49.0-XP40-WC08-02 49 245 345
L ZD05-50.0-XP40-WC08-02 50 250 350
ZD05-51.0-XP40-WC08-02 51 255 355 .
ZD05-52.0-XP40-WC08-02 52 260 360 WCMTO80412 | M4710
ZD05-53.0-XP40-WC08-02 53 265 365 65 40 T15
ZD05-54.0-XP40-WC08-02 54 270 370
SD-WCHREH ZD05-55.0-XP40-WC08-02 55 275 375
e D L1 L (2 d BRI B RE ZD05-56.0-XP40-WC08-02 56 280 380
ZD05-20.0-XP25-WC03-02 20 100 179 WEMT030208 ZD05-57.0-XP40-WC08-02 57 285 385
ZD05-20.5-XP25-WC03-02 20.5 102.5 181 ZD05-58.0-XP40-WC06-04 58 290 390
ZD05-21.0-XP25-WC04-02 21 105 184 ZD05-59.0-XP40-WC06-04 59 295 395 WCMTO6T308 | M3.5%8
ZD05-21.5-XP25-WC04-02 21.5 107.5 186 7ZD05-60.0-XP40-WC06-04 60 300 400
ZD05-22.0-XP25-WC04-02 22 110 189 .
ZD05-22.5-XP25-WC04-02 225 1125 193 56 25 WEMT04028 M2.576.5
ZD05-23.0-XP25-WC04-02 23 115 194
ZD05-23.5-XP25-WC04-02 235 175 196
ZD05-24.0-XP25-WC04-02 24 120 199
7D05-24.5-XP25-WC04-02 245 1225 201
ZD05-25.0-XP32-WC05-02 25 125 216 s/\\Z-E VeI E
ZD05-25.5-XP32-WC05-02 255 1275 218 1< IJI'TQI)IL.E
ZD05-26.0-XP32-WC05-02 26 130 221
ZD05-26.5-XP32-WC05-02 26.5 1325 223
ZD05-27.0-XP32-WC05-02 27 135 226
ZD05-27.5-XP32-WC05-02 275 1375 228 35
ZD05-28.0-XP32-WC05-02 28 140 231 .
7D05-28.5-XP32-WC05-02 285 1425 233 WCMTO050308 | M3%7 8
ZD05-29.0-XP32-WC05-02 29 145 236
ZD05-29.5-XP32-WC05-02 295 1475 238
ZD05-30.0-XP32-WC05-02 30 150 241
ZD05-30.5-XP32-WC05-02 305 152.5 243
ZD05-31.0-XP32-WC05-02 31 155 246
ZD05-31.5-XP32-WC05-02 315 1575 248
ZD05-32.0-XP32-WC06-02 32 160 251
ZD05-32.5-XP32-WC06-02 32,5 162.5 253
ZD05-33.0-XP32-WC06-02 33 165 256 60 32
ZD05-33.5-XP32-WC06-02 335 167.5 258
ZD05-34.0-XP32-WC06-02 34 170 261
ZD05-34.5-XP32-WC06-02 345 1725 263
ZD05-35.0-XP32-WC06-02 35 175 266
7D05-35.5-XP32-WC06-02 355 1775 268
ZD05-36.0-XP32-WC06-02 36 180 271
ZD05-36.5-XP32-WC06-02 365 182.5 273 WCMT06T308 | M3.5*8
ZD05-37.0-XP32-WC06-02 37 185 276
ZD05-37.5-XP32-WC06-02 37.5 187.5 278
ZD05-38.0-XP32-WC06-02 38 190 281
ZD05-38.5-XP32-WC06-02 385 192.5 283
ZD05-39.0-XP32-WC06-02 39 195 284
ZD05-39.5-XP32-WC06-02 39.5 197.5 288
ZD05-40.0-XP32-WC06-02 40 200 291 s
ZD05-41.0-XP32-WC06-02 41 205 296
ZD05-42.0-XP32-WC06-02 42 210 301
ZD05-43.0-XP40-WC08-02 43 215 315 14 15 16 17 18 19 20 21 22 23 24 25 26
ZD05-44.0-XP40-WC08-02 44 220 320 65 40 WCMTO080412 | M4*10 N
ZD05-45.0-XP40-WC08-02 45 225 325 $hLER (mm)



Administrator
打字机
7

Administrator
打字机
8

Administrator
打字机


REREE

2{ESPIRE £

"~ 3 - e D L1 L L2 d ERBTIA By RF
l—aﬁ . a8 _ - ZD02-36.0-XP32-SP11-02 36 72 163
. . { b ZD02-36.5-XP32-SP11-02 36.5 73 164
> L 2 ZD02-37.0-XP32-SP11-02 37 74 165
_\‘, | ZD02-37.5-XP32-SP11-02 37.5 75 166
L L2 ZD02-38.0-XP32-SP11-02 38 76 167 SPMG110408 | M4°10 T15
ZD02-38.5-XP32-5P11-02 385 77 168 60 65
L ZD02-39.0-XP32-SP11-02 39 78 169
ZD02-39.5-XP32-SP11-02 39.5 79 170
ZD02-40.0-XP32-SP11-02 40 80 171
Y ZD02-41.0-XP32-SP14-02 41 82 173
2D-SPR&E ZD02-42.0-XP32-SP14-02 42 84 175
Bs D L1 L L2 d BRR R RF ZD02-43.0-XP40-SP14-02 43 86 186
ZD02-13.0-XP25-5P05-02 13 26 104 ZD02-44.0-XP40-SP14-02 44 88 188
ZD02-13.5-XP25-SP05-02 13.5 27 105 7D02-45 0-XPA0-SP14-02 25 %0 T90
ZD02-14.0-XP25-SP05-02 14 28 106 SPMG050204 M25 ZD02-46.0-XP40-SP14-02 46 92 192 SPMG140412 M5*10 T20
ZD02-14.5-XP25-SP05-02 14.5 29 107 ZD02-47 0-XP40-SP14-02 27 94 T94
ZD02-15.0-XP25-5P05-02 15 30 108 ZD02-48.0-XP40-SP14-04 48 926 196
ZD02-15.5-XP25-SP06-02 15.5 31 109 7D02-49.0-XP40-SP14-04 49 98 198
ZD02-16.0-XP25-5P06-02 16 32 110 ZD02-50.0-XP40-SP14-04 50 100 200
ZD02-16.5-XP25-5P06-02 16.5 33 11 ZD02-51.0-XP40-SP14-04 51 102 202
ZD02-17.0-XP25-5P06-02 17 34 112 Te ZD02-52.0-XP40-SP09-04 52 104 204 65 40
ZD02-17.5-XP25-SP06-02 17.5 35 113 ZD02-53.0-XP40-SP09-04 53 106 206
ZD02-18.0-XP25-5P06-02 18 36 114 ZD02-54.0-XP40-SP09-04 54 108 208
ZD02-18.5-XP25-SP06-02 18.5 37 115 56 o5 SPMG060204 | M2.2*5 7D02-55 0-XP40-SP09-04 55 170 510
ZD02-19.0-XP25-5P06-02 19 38 116 ZD02-56.0-XP40-SP09-04 56 112 212 SPMG090408 | M3.5%8 T15
ZD02-19.5-XP25-5P06-02 19.5 39 17 ZD02-57.0-XP40-SP09-04 57 114 214
ZD02-20.0-XP25-5P06-02 20 40 119 ZD02-58.0-XP40-SP09-04 58 116 216
ZD02-21.0-XP25-5P06-02 21 42 121 ZD02-60.0-XP40-SP09-04 60 120 220
ZD02-21.5-XP25-SP06-02 215 43 122
ZD02-22.0-XP25-SP07-02 22 44 123
ZD02-22.5-XP25-SP07-02 225 45 124
ZD02-23.0-XP25-SP07-02 23 46 125
ZD02-23.5-XP25-SP07-02 235 47 126
ZD02-24.0-XP25-SP07-02 24 48 127 ﬂ%n‘ﬁg *Ijllamu
ZD02-24.5-XP25-SP07-02 245 49 128 SPMGO7T308 | M2.5%6 T8
ZD02-25.0-XP32-SP07-02 25 50 141
ZD02-25.5-XP32-SP07-02 255 51 142
ZD02-26.0-XP32-SP07-02 26 52 143

7D02-26.5-XP32-5P07-02 226%5 gi 144 ZD 03 30.0 XP 32 W C 05

ZD02-27.0-XP32-SP07-02

ZD02-27.5-XP32-SP09-02 275 55 146 | | | | | |
— 2 o TE % K& TEER TIE %R TIERR TEITIEE (mm)
ZD02-29.0-XP32-SP09-02 29 58 149 KE| W88 02, 03, & | 14.0-600 KRE| i8R W re PARSS
ZD02-29.5-XP32-SP09-02 29.5 59 150 ZD | i&FLEh 04, 05 16mm-58mm XP | EISEZES S W S
ZD02-30.0-XP32-SP09-02 30 60 151 50 - 03 | 3.8 -
7D02-30.5-XP32-SP09-02 30.5 61 152 SPMG090408 | M3.5*8 EER 04 | 43 -
- - - - - 05 5.4 -
ZD02-31.0-XP32-SP09-02 31 62 153 -
ZD02-31.5-XP32-SP09-02 31.5 63 154 Ti5 c 7 06 | 6.5 | 6.35
ZD02-32.0-XP32-SP09-02 32 64 155 Ea—— P 11° 08 | 8.7 | 8.0
ZD02-32.5-XP32-SP09-02 32.5 65 156 TEREHLURT (mm) 09 - |9.925
ZD02-33.0-XP32-SP09-02 33 66 157 s 30 40 12 - 127
ZD02-33.5-XP32-SP11-02 33.5 67 158 N
ZD02-34.0-XP32-SP11-02 34 68 159
ZD02-34.5-XP32-SP11-02 34.5 69 160 SPMG110408 | M4*10
ZD02-35.0-XP32-SP11-02 35 70 161

ZD02-35.5-XP32-SP11-02 35.5 71 162



Administrator
打字机
9

Administrator
打字机
10

Administrator
打字机


REREH

3fESPIRE

B — - - RS D L1 L L2 d BRI 3 RE
e _ - ZD03-36.0-XP32-SP11-02 36 108 199
"' . ZD03-36.5-XP32-SP11-02 36.5 109.5 200
i ZD03-37.0-XP32-SP11-02 37 K 202
ml 1) ZD03-37.5-XP32-SP11-02 37.5 1125 203
ZD03-38.0-XP32-SP11-02 38 114 205 SPMG110408 | M4*10 T15
ZD03-38.5-XP32-SP11-02 38.5 1155 206 60 32
L ZD03-39.0-XP32-SP11-02 39 117 206
ZD03-39.5-XP32-SP11-02 39.5 1185 209
ZD03-40.0-XP32-SP11-02 40 120 211
_SpaE ZD03-41.0-XP32-SP14-02 471 123 214
3D-SPREH i ZD03-42.0-XP32-SP14-02 42 126 217
Bs D L1 L L2 d ERIA R RF ZD03-43.0-XP40-SP14-02 43 129 229
ZD03-13.0-XP25-SP05-02 13 39 17 ZD03-44.0-XP40-SP14-02 44 132 232
ZD03-14.0-XP25-5P05-02 14 42 120 SPMG050204 M2*5 ZD03-46.0-XP40-SP14-02 46 138 238 SPMG140412 M5*10 T20
ZD03-14.5-XP25-SP05-02 14.5 435 122 >D03-47 0-XPA0-SP14-02 17 T a1
ZD03-15.0-XP25-SP05-02 15 45 123 ZD03-48.0-XP40-SP14-04 48 144 244
ZD03-16.0-XP25-5P06-02 16 48 126 ZD03-50.0-XP40-SP14-04 50 150 250
ZD03-17.0-XP25-5P06-02 17 51 129 T6 ZD03-52.0-XP40-SP09-04 52 156 256 6s 40
ZD03-17.5-XP25-SP06-02 175 52.5 130 ZD03-53.0-XP40-SP09-04 3 159 59
ZD03-18.0-XP25-5P06-02 18 54 132 ZD03-54.0-XP40-SP09-04 54 162 262
ZD03-18.5-XP25-SP06-02 185 55.5 133 56 o5 SPMG060204 | M2.2*5 7D03-55 0-XP40-SP09-04 55 165 265
ZD03-19.0-XP25-5P06-02 19 57 135 ZD03-56.0-XP40-SP09-04 56 168 268 SPMG090408 | M3.5*8 T15
ZD03-19.5-XP25-SP06-02 19.5 585 135 7D03-57 0-XP40-SP09-04 57 7 71
ZD03-20.0-XP25-5P06-02 20 60 139 ZD03-58.0-XP40-SP09-04 58 174 274
ZD03-21.0-XP25-5P06-02 21 63 142 ZD03-60.0-XP40-SP09-04 60 180 280
ZD03-21.5-XP25-SP06-02 215 64.5 143
ZD03-22.0-XP25-SP07-02 22 66 145
ZD03-22.5-XP25-SP07-02 22.5 675 148 IR :
ZD03-23.0-XP25-SP07-02 23 69 148 #% Rl LA
ZD03-23.5-XP25-SP07-02 23.5 70.5 149 _ e QETIR ETIEER S A
TR NS (IR e o = = ESERINTR , MFEXNTEENTIANER , TAZROENMOME.
ZD03-24.5-XP25-SP07-02 245 735 152 SPMGO7T308 | M2.5%6 T8
ZD03-25.0-XP32-SP07-02 25 75 166
ZD03-25.5-XP32-SP07-02 25.5 76.5 167
ZD03-26.0-XP32-SP07-02 26 78 169
ZD03-26.5-XP32-SP07-02 26.5 79.5 170
ZD03-27.0-XP32-SP07-02 27 81 172
ZD03-27.5-XP32-SP09-02 27.5 825 173
ZD03-28.0-XP32-SP09-02 28 84 175
ZD03-28.5-XP32-SP09-02 28.5 85.5 176 MAEY KR IR SR E S
ZD03-29.0-XP32-SP09-02 29 87 178 " '
B 45 /INFL IR Y 5,
ZD03-29.5-XP32-SP09-02 29.5 88.5 179 gwﬁ%ﬂ&ﬁﬂﬁﬁﬂgﬁﬁ
ZD03-30.0-XP32-SP09-02 30 90 181 . 1 :
ZD03-30.5-XP32-SP09-02 30.5 915 182 60 32 SPMG090408 | M3.5%8 HAER30mMm
ZD03-31.0-XP32-SP09-02 37 93 184
ZD03-31.5-XP32-SP09-02 315 945 185 Ti5
ZD03-32.0-XP32-SP09-02 32 96 187 IR 5
ZD03-32.5-XP32-SP09-02 32.5 975 188 N
ZD03-33.0-XP32-SP09-02 33 99 190 l
ZD03-33.5-XP32-SP11-02 33.5 100.5 197 £
ZD03-34.0-XP32-SP11-02 34 102 193
ZD03-34.5-XP32-SP11-02 345 103.5 194 SPMG110408 | M4*10
ZD03-35.0-XP32-SP11-02 35 105 196 , ) .
2D03-35 5-XP32-SP11-02 355 1065 197 ER29.8mm LER30mm FALE®R30.4mm



Administrator
打字机
11

Administrator
打字机
12

Administrator
打字机


REREE

4{ZS PR E £h

R — - - e D L1 L L2 d ERAE 1854 RE
ZD04-36.0-XP32-SP11-02 36 144 235
"' =k = 7D04-36.5-XP32-SP11-02 365 146 237
3zl ZD04-37.0-XP32-SP11-02 37 148 239
1 ZD04-37.5-XP32-SP11-02 37.5 150 241
L L1 ZD04-38.0-XP32-SP11-02 38 152 243 SPMG110408 M4*10 Ti5
ZD04-38.5-XP32-SP11-02 38.5 154 245 60 32
L ZD04-39.0-XP32-SP11-02 39 156 247
ZD04-39.5-XP32-SP11-02 39.5 158 249
ZD04-40.0-XP32-SP11-02 40 160 251
PN ZD04-41.0-XP32-SP14-02 41 164 255
4D-SPREH ZD04-42.0-XP32-SP14-02 42 168 259
Bs D L1 L L2 d ERIA R RF ZD04-43.0-XP40-SP14-02 43 172 272
ZD04-13.0-XP25-5P05-02 13 52 130 ZD04-44.0-XP40-SP14-02 44 176 276
ZD04-13.5-XP25-SP05-02 15 54 132 7D04-45 0-XP40-SP14-02 25 180 580
ZD04-14.0-XP25-5P05-02 14 56 134 SPMG050204 M2*5 ZD04-46.0-XP40-SP14-02 46 184 284 SPMG140412 M5*10 T20
ZD04-14.5-XP25-SP05-02 14.5 58 136 ZD04-47.0-XP40-SP14-02 47 188 288
ZD04-15.0-XP25-5P05-02 15 60 138 ZD04-48.0-XP40-SP14-04 48 192 292
ZD04-15.5-XP25-SP06-02 15.5 62 140 7D04-49.0-XP40-SP14-04 49 196 206
ZD04-16.0-XP25-SP06-02 16 64 142 ZD04-50.0-XP40-SP14-04 50 200 300
ZD04-17.0-XP25-SP06-02 17 68 146 6 ZD04-52 0-XP40-SP09-04 50 508 38 65 40
ZD04-18.0-XP25-5P06-02 18 72 150 ZD04-54.0-XP40-SP09-04 54 216 316
ZD04-18.5-XP25-SP06-02 185 74 152 56 o5 SPMG060204 | M2.2*5 ZD04-55 0-XP40-SP09-04 55 520 320
ZD04-19.0-XP25-SP06-02 19 76 154 ZD04-56.0-XP40-SP09-04 56 224 324 SPMG090408 | M3.5*8 T15
ZD04-20.0-XP25-SP06-02 20 80 159 ZD04-58.0-XP40-SP09-04 58 232 332
ZD04-21.0-XP25-5P06-02 21 84 163 ZD04-60.0-XP40-SP09-04 60 240 340
ZD04-21.5-XP25-SP06-02 21.5 86 165
ZD04-22.0-XP25-SP07-02 22 88 167
ZD04-22.5-XP25-SP07-02 225 90 169 A .
ZD04-23.0-XP25-SP07-02 23 92 171 ERREZA
Ty e B L TR ERN  ROBTHELE MRS THEnEa TS,
ZD04-24.5-XP25-SP07-02 24.5 08 177 SPMGO7T308 | M2.5*6 T8 g0
ZD04-25.0-XP32-SP07-02 25 100 191
ZD04-25.5-XP32-SP07-02 25.5 102 193
ZD04-26.0-XP32-SP07-02 26 104 195
ZD04-26.5-XP32-SP07-02 26.5 106 197
ZD04-27.0-XP32-SP07-02 27 108 199
ZD04-27.5-XP32-SP09-02 275 110 201
ZD04-28.0-XP32-SP09-02 28 112 203
ZD04-28.5-XP32-SP09-02 28.5 114 205 BOETESGLMES T MmMEES7E0.2mm
— e - 55 B PO B 5t BE 46 1R /O 53T 1 K LR %)
ZD04-30.0-XP32-SP09-02 30 120 211 50 - SPMG090408 | M3.5"8
ZD04-30.5-XP32-SP09-02 30.5 122 213
ZD04-31.0-XP32-SP09-02 31 124 215
ZD04-31.5-XP32-SP09-02 31.5 126 217 Ti5
ZD04-32.0-XP32-SP09-02 32 128 219 —
ZD04-32.5-XP32-SP09-02 32.5 130 221
ZD04-33.0-XP32-SP09-02 33 132 223 /i
ZD04-33.5-XP32-SP11-02 33.5 134 225 £
ZD04-34.0-XP32-SP11-02 34 136 227 DNEHR
ZD04-34.5-XP32-SP11-02 34.5 138 229 SPMG110408 M4*10
ZD04-35.0-XP32-SP11-02 35 140 231 IEEEFL&ZD EHEFARED+0.2
ZD04-35.5-XP32-SP11-02 355 142 233 NEMNEMEES



Administrator
打字机
13

Administrator
打字机
14

Administrator
打字机


REREE

5 &SP RIEH,

mﬁ-\ —— - - S D L1 L L2 d ERTR |32 R F
L m” \hm, ~ - - ZD05-46.0-XP40-SP14-02 46 230 330
- 2 e — ‘ ZD05-47.0-XP40-SP14-02 47 235 335
Lo e . C— st ZD05-48.0-XP40-SP14-04 48 240 340 .
“ { ZD05-49.0-XP40-SP14-04 49 245 345 SPMG140412 | M5710 720
L L2 ZD05-50.0-XP40-SP14-04 50 250 350
ZD05-51.0-XP40-SP14-04 51 255 355
L ZD05-52.0-XP40-SP09-04 52 260 360
ZD05-53.0-XP40-SP09-04 53 265 365 65 40
ZD05-54.0-XP40-SP09-04 54 270 370
S ZD05-55.0-XP40-SP09-04 55 275 375
5D-SPRE ZD05-56.0-XP40-SP09-04 56 280 380 SPMG090408 | M3.5°8 T15
Bs D L1 L L2 d BRR R RF ZD05-57.0-XP40-SP09-04 57 285 385
ZD05-20.0-XP25-5P06-02 20 100 179 ZD05-58.0-XP40-SP09-04 58 290 390
ZD05-21.0-XP25-5P06-02 21 105 184 ZD05-60.0-XP40-SP09-04 60 300 400
ZD05-21.5-XP25-SP06-02 215 107.5 186
ZD05-22.0-XP25-SP07-02 22 110 189 56 05
ZD05-22.5-XP25-SP07-02 225 112.5 193
ZD05-23.0-XP25-SP07-02 23 115 194
ZD05-23.5-XP25-SP07-02 235 1175 196
ZD05-24.0-XP25-SP07-02 24 120 199
ZD05-24.5-XP25-SP07-02 245 122.5 201 SPMGO7T308 | M2.5%6 T8
ZD05-25.0-XP32-SP07-02 25 125 216
ZD05-25.5-XP32-SP07-02 255 127.5 218
ZD05-26.0-XP32-SP07-02 26 130 221
ZD05-26.5-XP32-SP07-02 26.5 132.5 223
ZD05-27.0-XP32-SP07-02 27 135 226
ZD05-27.5-XP32-SP09-02 275 137.5 228
ZD05-28.0-XP32-5P09-02 28 140 231
ZD05-28.5-XP32-SP09-02 285 142.5 233
ZD05-29.0-XP32-5P09-02 29 145 236
ZD05-29.5-XP32-SP09-02 29.5 147.5 238
ZD05-30.0-XP32-SP09-02 30 150 241
ZD05-30.5-XP32-5P09-02 305 1525 243 SPMG090408 | M3.5°8
ZD05-31.0-XP32-SP09-02 31 155 246
ZD05-31.5-XP32-SP09-02 315 157.5 248
ZD05-32.0-XP32-5P09-02 32 160 251
ZD05-32.5-XP32-5P09-02 325 162.5 253
ZD05-33.0-XP32-5P09-02 33 165 256 60 32
ZD05-33.5-XP32-SP11-02 335 167.5 258 T15
ZD05-34.0-XP32-SP11-02 34 170 261
ZD05-34.5-XP32-SP11-02 34.5 1725 263
ZD05-35.0-XP32-SP11-02 35 175 266
ZD05-35.5-XP32-SP11-02 35.5 1775 268
ZD05-36.0-XP32-SP11-02 36 180 271
ZD05-36.5-XP32-SP11-02 365 1825 273 )
ZD05-37.0-XP32-SP11-02 37 185 276 SPMG110408 | M4710
ZD05-37.5-XP32-5P11-02 37.5 187.5 278
ZD05-38.0-XP32-SP11-02 38 190 281
ZD05-38.5-XP32-SP11-02 38.5 1925 283
ZD05-39.0-XP32-SP11-02 39 195 284
ZD05-39.5-XP32-SP11-02 395 197.5 288
ZD05-40.0-XP32-SP11-02 40 200 291
ZD05-41.0-XP32-SP14-02 41 205 296
ZD05-42.0-XP32-SP14-02 42 210 301 )
ZD05-43.0-XP40-SP14-02 43 215 315 SPMG140412 1 M5710 120
ZD05-44.0-XP40-SP14-02 44 220 320 65 40
ZD05-45.0-XP40-SP14-02 45 225 325



Administrator
打字机
15

Administrator
打字机
16

Administrator
打字机


VMD

VMDEMFRII

Pe
| o
/// 9 \ £ = ‘_[ 73777 : } 77777777777777777777777777777777777777777777777777777777777777777777777 ~
e KJ o e | A, o
| I
\ 7i,,_r,_r71
/ \/ ¢ i
1. 5-2am
— i L
VMDE KR VMDZE k75
e D DS D1 L1 L m7 4N Sk il LI e D D1 D2 L L2 M M
VMD-045050 | 45-50 VNC-045050N | VNC-045050T . DXZ-3016100 30 16 32 100 75 M8x1
VMD-050055 | 50-55 16 30 60 95 [VNC-050055N|VNC-050055T| > 1035-TIN-H | WCMT030208) 2 DXZ-3013150 30 16 32 150 75 M8x1
VMD-055060 | 55-60 VNC-055060N | VNC-055060T WCMT040208] 2 DXZ-3016200 30 16 32 200 75 M8x1 4555
VMD-060065 | 60-65 VNC-060065N[VNC-060065T] |, « 1 5a0 i lwemTos0308] 2 DXZ-3016250 30 16 32 250 75 M8x1
VMD-065070 | 65-70 VNC-065070N|VNC-065070T DXZ-3016300 30 16 32 300 75 M8x1
VMD-070075 | 70-75 25 45 127 [VNC-070075N|VNC-070075T DXZ-3016400 30 16 32 400 75 M8x1
VMD-075080 | 75-80 - VNC-075080N | VNC-075080T DXZ-4525100 45 25 40 100 75 M10x1
VMD-080085 | 80-85 VNC-080085N | VNC-080085T WCMT06T308| 2 DXZ-4525150 45 25 40 150 75 M10x1
VMD-085090 | 85-90 VNC-085090N | VNC-085090T | PLS-1645-TiN-H DXZ-4525200 45 25 40 200 75 M10x1 6080
VMD-090095 | 90-95 30 50 139 [VNC-090095N|VNC-090095T DXZ-4525250 45 25 40 250 75 M10x1
VMD-095100 | 95-100 VNC-095100N | VNC-095100T DXZ-4525300 45 25 40 300 75 M10x1
VMD-100105 | 100-105 VNC-100105N|VNC-100105T WCMT050308| 3 DXZ-4525400 45 25 40 400 75 M10x1
VMD-105110 | 105-110 | 32 58 94 VNC-T05110N[VNC-105110T ]|, ¢ 5045 Tin.H DXZ-5030100 50 30 40 100 75 M12x1
VMD-110115 | 110-115 VNC-110115N|VNC-110115T DXZ-5030150 50 30 40 150 75 M12x1
VMD-115120 | 115-120 154 |YNC-115120NJVNC-115120T DXZ-5030200 50 30 40 200 75 M12x1 8595
VMD-120125 | 120-125 VNC-120125N|VNC-120125T WCMTO06T308| 3 DXZ-5030250 50 30 40 250 75 M12x1
VMD-125130 | 125-130 | 40 70 104 VNC-125130N|VNC-125130T DXZ-5030300 50 30 40 300 75 M12x1
VMD-130135 | 130-135 VNC-130135N|VNC-130135T DXZ-5030400 50 30 40 400 75 M12x1
VMD-135140 | 135-140 VNC-135140N|VNC-135140T WOMTO6T308| 4 DXZ-5832100 58 32 40 100 75 M12x1
VMD-140145 | 140-145 VNC-140145N|VNC-140145T DXZ-5832150 58 32 40 150 75 M12x1
VMD-145150 | 145-150 VNC-145150N[VNC-145150T] |, o Srrp tinn DXZ-5832200 58 32 40 200 75 M12x1 1005110
VMD-150155 | 150-155 VNC-150155N|VNC-150155T WCMT080408| 3 DXZ-5832250 58 32 40 250 75 M12x1
VMD-155160 | 165-160 | 80 116 | 176 [YNC-155160N|VNC-155160T DXZ-5832300 58 32 40 300 75 M12x1
VMD-160165 | 160-165 VNC-160165N|VNC-160165T WeMTOsT308| & DXZ-5832400 58 32 40 400 75 M12x1
VMD-165170 | 165-170 VNC-165170N|VNC-165170T DXZ-7040100 70 40 50 100 80 M12x1
VMD-170175 | 170-175 VNC-170175N|VNC-170175T weMTo80408| 4 DXZ-7040150 70 40 50 150 80 M12x1
VMD-175180 | 175-180 VNC-175180N|VNC-175180T DXZ-7040200 70 40 50 200 80 M12x1 1150135
DXZ-7040250 70 40 50 250 80 M12x1
DXZ-7040300 70 40 50 300 80 M12x1
DXZ-7040400 70 40 50 400 80 M12x1
DXZ-8050100 80 50 50 100 80 M12x1
DXZ-8050150 80 50 50 150 30 M12x1
o DXZ-8050200 80 50 50 200 80 M12x1
RE DV DXZ-8050250 80 50 50 250 30 M12x1 ®140--®195
s D L DXZ-8050300 80 50 50 300 80 M12x1
PLD-V1035TIN-H 10 35 DXZ-8050400 80 50 50 400 30 M12x1
PLD-V1238TIN-H 12 38
PLD-V1645TIN-H 16 45
PLD-2045TIN-H 20
PLD-2556TIN-H 25 56
PLD-3068TIN-H 30 68



Administrator
打字机
17

Administrator
打字机
18

Administrator
打字机


IE i

Iz IzZidE R | #5 | MIRE | SARK

@60 TEEh 80 16 | 1/NEF105554
ERIE QHET]— 200 | 30 4055 1505 %h
OHEET— 200 | 30 405550
1T | VMDaJ#E{uAshske105 | 280 | 45 185§ 185§
ERTFR
I ¢105mAR550mm, ##42Crmo. HB 220
Bs D D1 L M M EAEH. By ST AR, ITSMITERE8E R, NAVMDA A KL
YXZ-3016100 30 16 100 M8*1 RIBHREMTHKE, VMDA AELNTER: \
YXZ-3016200 30 16 200 M8*1 $45-¢55 kiR E —. XARPOLSOHES, FREFNELMR, MTRIELTERFNELE,
YXZ-3016300 30 16 300 M8 Z. RNITIRBRIBR/NTI RGN, EXRRMERF, RSMANENTITIFE, @
" 4 N I EFNTIE, BT ESZLMNIRE, TR TIERE,
YXZ-4525100 45 25 100 M10"1 VotB#E 100m/min | = ESBEITIR, $KMIRYEMULEO-5mmALE .
YXZ-4525200 45 25 200 M10*1 $60-¢80 _ Ycx1000 Do) 555 M. 7RMNARBAEREN. MIFRANRE, REERTEKENIRED
YXZ-4525300 45 25 300 M10*1 mxbe S = B o N i s
VXZ-5030100 ) . 700 YiED A, SREPLEAKIL, TMREFNARTIE, EXKIEFNERES, BNEHT
- S IASESLER 1005 ) HE
YXZ-5030200 50 25 200 M1271 $85-¢95 L 00X1000 AN RATUHMERASTIATY, BRESNEENRE, LELEETARNE
YXZ-5030300 50 25 300 M12*1 = 2220999 5y grey/min o
YXZ-5832100 58 32 100 M12°1 30 /;%QEEE¢,%Eﬁﬁ%E%§,&ﬁ%ﬁﬁﬁ%mﬁﬁﬁ%w%ﬁ,?éﬁ
- . 100-¢110 o R X N _
s = 2 = Y 100-9 NI, BHESHT, AEESRENGDE, KEAEES
YXZ-7040200 70 40 200 M12*1
YXZ-7040300 70 40 300 M12%1 $115-¢135 HIGEE
YXZ-7040400 70 40 400 M12"1 Ve Crafts Crafts process Speed| Feed |Process Time| Total Time
YXZ-8050200 80 50 200 M127] ® ¢ 60 twist drill 80 16 Th10min
YXZ-8050300 80 50 300 M12°1 $140-¢195 Vf=Frxs VAR raditional ™G rough boring tool 1_| 200 | 30 | 40min 150min
YXZ-8050400 80 50 400 M12"T Fr=Bwniag @rough boringtool 2_| 200 | 30 40min
S=EHHE New Crafts| VMD index abledrill ¢ 105| 280 | 45 T8min T8min

S LASESKE R 9100441, S#EstiaE0.15mm/rev
Vf=0.15%318=47.7mm/min

Machining ®105m depth 550mm, material 42Crmo, HB220

In the oil, coal and other machine industries, as oversize hole machining becomes more

N J
HLEE
e ™
H Tc(s):h0 IR E
=——X60
Te=vs H=7, 80 TR &

Te=—177

_100x60

=126(s)

SEH)  LASEkERe100960 , FLANTREHT00mm.

and more common, the application of VMD indexable drill can greatly improve the

machining efficiency.

The bright spot of VMD indexable drill:

(D Using the structure of center guide drill with better centering effect to make sure hole
site a good straightness.

@ Internal and External cutter edge is applied to the structure of replaceable clamp tool.
In practical using, the most vulnerable is external edge clamp. Replacing clamp can avoid
the drill scrapped to save the tool cost.

(® Adjusting external clamp, the dimension of drill machining can vary within 0-5 mm.

@ Cutter head and shank are modular structure. Only change different length shank
during processing the different depth of the hole.

® Drill with center water hole can cool insert better, extend insert life and accelerate
chip evacuation.

® Using indexable carbide insert cutting with high speed and feed, surface finish has
greatly improved.

(@ In the process, security is greatly improved as chip is breaker not slender twining of
traditional twist drill.

In the process, automatic continuous feed, and don't need tool back off to chip, and
efficiency is greatly improved.



Administrator
打字机
19

Administrator
打字机
20

Administrator
打字机

Administrator
打字机


Z I HE B T

ROE-ZREE

ZIMRERTI = m RIFg

oZHI. WE. HHITIEL  EA—FTIEMT e %A ©
BUREE , EEBH /

; SHEFISNE
CEOTIRIERNR , B4 ARK V b

EH

L1

\/
Ml
()1}

'd Y U
TOPCAP —
]
E-’L
' e— |
(. %_ me R~ (mm)
\ SRR ] HH D DI D2 L L1
BJT-322062 49 20 32 62 5
'd Y
. BJT-322562 49 25 32 62 5
v
= <' BJT-402065 58 20 40 65 6
HEES BJT-402565 58 25 40 65 6
] - BJT-403265 58 32 40 65 6
ﬁ BJT-502572 65 25 50 70 6
! R BJT-503272 65 32 50 70 6
( — BJT-504072 65 40 50 70 6
. J
L= * AR L
* RIZNEESTFHIB
* KHBIEHE RS
& T F KRR ITHE T E A ES L1 L3
* e I T EAE D B D i
NS IMDERHEB RS
. - |
S N B
sk L1 L ERR [$72 ®F
TCAP-08R/L-3.0DN 8 12 24 75 XCMT 04 D1 04 M1.8x35 T6
TCAP-09R/L-3.0DN 9 12 27 75 XCMT 05 D2 04 M2x5 T6
TCAP-10R/L-3.0DN 10 12 30 75 XCMT 05 D2 04 M2x5 T6
TCAP-11R/L-3.0DN 11 16 33 75 XCMT 06 D2 04 M2.2x5 T6 —
TCAP-12R/L-3.0DN 12 16 36 75 XCMT 06 D2 04 M2.2x5 T6 me R (mm) MIERBFETEA PLOERETEE
TCAP-13R/L-3.0DN 13 16 39 75 XCMT 07 D3 04 M25x6.5 T6 ¢D1 | oD2 | ¢D L L1 L2 L3
TCAP-14R/L-3.0DN 14 16 42 75 XCMT 07 D3 04 M2.5x6.5 T6 2025-43 20 o5 41 47 6 11 33 +0.4-0.2 +0.2-0.15
TCAP-08R/L-2.25DN 8 12 18 75 XCMT 04 D1 04 M1.8x3.5 T6 2532-48 o5 32 49 60 6 11 45 +0.4-0.2 +0.2-0.15
TCAP-09R/L-2.25DN 9 12 20.5 75 XCMT 05 D2 04 M2 x5 T6
TCAP-10R/L-2.25DN 10 12 22.5 75 XCMT 05 D2 04 M2 x5 T6 3240-53 32 40 58 65 6 1 50 +0.4-0.2 +0.2-0.15
TCAP-11R/L-2.25DN 11 16 25 75 XCMT 06 D2 04 M2.2x5 T6 4050-63 40 50 68 76 6 11 61 +0.4-0.2 +0.2-0.2
TCAP-12R/L-2.25DN 12 16 27 75 XCMT 06 D2 04 M2.2 x5 T6
TCAP-13R/L-2.25DN 13 16 29.5 75 XCMT 07 D3 04 M2.5%6.5 T8
TCAP-14R/L-2.25DN 14 16 31.5 75 XCMT 07 D3 04 M2.5%6.5 T8



Administrator
打字机
21

Administrator
打字机
22

Administrator
打字机


5 T il

R EG4L IR

¢D1
¢D
N

mDimensions: L

L1 r—-u;*

1 HiH
L ,
qm P s
1l 1Jd
BS D DI L L1 i Na ERN
DIN228-B-32-MTA4 32 64 204 124 ; %
DIN228-B-40-MTA4 40 64 204 124 LN
DIN228-B-32-MTA5 32 64 204 156 e e
DIN228-B-40-MTAB 40 64 204 156 ' o pTv. POSITION BLOCK
DIN228-B-32-MTA6 32 64 303 218 -
DIN228-B-40-MTA6 40 64 303 218
DIN228-B-50-MTA6 50 74 303 218
Bs d L B C D LO L1 H HI
BT40-0SL32-155 32 155 65 53 90 50 60 15 15
L BT40-OSL40-155 40 155 65 70 90 50 70 19 18
‘ T BT50-0SL32-160 32 160 80 54 100 50 60 15 15
T BT50-0SL40-160 40 160 80 64 100 50 70 19 18

s D D1 D2 L L1 L2 L3
MT5-YLDB-32 32 55 92 127 15 18 60
MT5-YLDB-40 40 60 98 127 15 18 65
MT6-YLDB-32 32 55 92 127 15 18 60
MT6-YLDB-40 40 60 98 127 15 18 65
MT6-YLDB-50 50 70 108 127 15 18 70
@6 [ P = e — = [ P = = —
"E A f
T \\.TJ/ 3 T 30
i -
% Y’ g L
.~ 35___,
18.2+0.1
h ‘—Q‘i
Ya OF Va L

f——x—@

&



Administrator
打字机
23

Administrator
打字机

Administrator
打字机
24

Administrator
打字机


JE i 6 Sk

? = e M 4=
lm E%]J mﬁﬁﬂ Eg’ 'ﬁ J1E 2% product B 2K Z 3K Drawrings 158 B8 Instruction

~

1IN RO EEMERNIES :BT40=65mm ;BT50=80mm B5#KE
WPOEEEEESENL. SEERT , EAT RBAZEEEHKA
NE BRE (BERBERBINAEZMHEMOFLZIZAER) .

LaEAIEEAEEREANKRFEEREREKERZ L, (MNE)
bHEEIMRE , LIBEME LMW , FEMEEER LTS
(G ENETERE), EMHK L3RM 62 R FF 2 50K 7K £ 4%
B (7 BEUREMAH ) . Piianmli FTRE L T e
CHMARTHME  AERHEIDWREESNATHEMNE  FEXF BRRIBE

R BEE AR , EEXFRARE KT, FE i S 5 I T After boring through clamp
finishing boring to ensure

¢ 58 1.5x45°
~ $TIR. Eifs. RASATRE
= EchiE—BT] L@ , —SWH

\ Three process,boring,
chamfer,counterbore

concentrates in one tool.

60

‘640 +0.1
—

WMELEVNAREH (F ELEERBEEUFSENRBXEEXNFEE s dimensional accuracy.
UFELHEESEURTHEER , SUSHARBK) . MARELE
FREENHRRATNEEREMREE ) ¢73+0.05 R R G TR
§ N \ LiL7] =, AL
dIEBEREAEFEIFEHK , EEHKEEEMNHAE WP O HTEE i %E,J\ng*%ggﬁqub
WHERERK. IAFTHEHBDRERNENNITEETER (F—K 4 mI Optimizing insert angle to
o - play overlay board, then
FERANBRYBEFD) . ‘“I clamp finishing boring
3 ERAMIE , %MS100-300-5008 T MEET)AIA (10960 ) 7£ 65 FD dimension.
SREGDEESEEAEEBIT , . 1.5x45° .
BREPREEEASEIIEBT40S3500,BT5053000 TIR. @A, BPESHR. RE,
REBEWMTF BHGIERR , PIESED
A o BEREETIE
The procedure of monting and adjusting for oil feed holder Efficiently and conveniently
boring,chamfer,spot facing
32001 With Morse shank,and work
1. To confirm the shank center positioning column distance: BT40=65mm; a0 " in vertical drill,tailstock,etc..
BT50=80mm, and machine tool spindle center to a fixed distance comparison. RAOREBHFEFEFRIT | 5SHRHEEE |
. - : e - SIFRINTIT] | SRR, 42CrMo
Ifthe distance is inconsistent, manufacturers use the adjusting fixing seat water ; HB280 $1000 F200 {EtEiE , BHA

J\F)EE#% AR

0, [RXN 2 . .
ind power bearing bore dedicate
holder,special chip-breaker,
symmetical double blade,targeted

2. A.first put the fixed seatinstalled in the machine end on the water inlet and optimized desingn,42CrMo,
HB280,5S1000,F200,low speed,

inlet hole position, and then install the (fixed block according to the needs
of the end surface of the machine tool spindle dustproof cap screw with).

g3z

pipe is connected with the fixed block mushroom. (Figure) & 165 high feed,low wear,high efficiency.
3. B. oil way tool shank installation, the positioning of the keys on the ' SRR IBIRITIRE A,

L © MR WRSigit , FRRY
M6 screw loosen, the positioning column can move freely up and down ;D AT,
(Note: the positioning column with spring), positioning ring 3 M6 thread B E,“&I Dedicated boring for yacht
loosening to rotation and oil way tool shank main handle free — ) | L — iFchli:’éi%?:]t;ali)r:‘/a;?c::ja&’gte&gned
(Note: threads donotloose too). dimension for étabi]ity,

160 no deformation.
4. C. machine tool spindle locking, adjust oil way tool shank keyway (o a
and machine tool spindle key position, its alignment angle positioning
columns are adjusted at the same time, the alignment block water outlet, o HEREDE , RS EMEE
o ¥ = T115186
pressed into a positioning column Hou Yi to handle circuit mounted o 9 oy R NLHIEETIFRE
on the machine tool spindle (Note: after loading to check the positioning V Modular structure match
L . . . twish drill to the problem of
column and the positioning block into the water is aligned and the compound tool of keyhole.
45

upper end face of the positioning column
toand lower end of the positioning block is tightly, otherwise it will appear the water leakage. If not affixed, to adjust the positioning

of the positioning block down the distance or the thickness of the block

&t TEMAIEETIR | LREFERY

5.D.check whether installed after open water, check if the water is from oil or other places is the central Water Leakage. The spindle

rotates the main handle handle after the oil casing is fastened (the first use of that manual). After the completion of the above, first S AT ﬁXj] %Eﬁ_ﬁ jﬁ ‘i—%ﬂ /J{f
‘ ( ) i BAMN—HAEH AR RCERAF.

S$100-300-500 to handle circuit run (10 minutes) in the use of the maximum speed should not exceed BT40 S3500 and BT50 S3000.

Schematic diagram is as follows: We have been efforts, continuous research and development, stay tuned......



Administrator
打字机
25

Administrator
打字机
26

Administrator
打字机


